Cvičení angličtiny:  Popřete daný fakt ve větě (řekněte větu v záporu) a potom dodejte větu se správnými údaji.  /viz. KEY
Videonahrávku k tomuto cvičení najdete na:  https://www.youtube.com/watch?v=HdjyU0bLdJ4&t=58s
1. The electric bulb / The light bulb was invented by Christopher Columbus.  
Thomas Alva Edison. 

2. The next Summer Olympic Games are going to take place in Sydney.
Tokyo  

3. Sarah´s looking forward to watching TV.
reading a book   

4. James is disappointed because he has failed a math test.
lost a tennis match  

5. The Beatles had six members.
four members 

6. They came from London. (The Beatles)
Liverpool  

7. Judy loves spending money on books.  
clothes

8. The sun rises in the west.  
východ  

9. It is safe to drive on icy roads.
nebezpečné

10. Jamie dreams of becoming a doctor.  
pilot	

11. Laura finds her job boring.
exciting  

12. Laura´s  bored with/ by her job.
nadšená

13. Andrew is angry because he has missed the bus.
train  

14. Andrew was angry because he had missed the bus. 
train  

15. When you have a toothache, you should make an appointment with your hairdresser.
dentist

16. The green suitcase is much cheaper than the yellow one.  
mnohem dražší
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1. The electric bulb / The light bulb was invented by Christopher Columbus.  
Žárovku vynalezl Christopher Columbus.
The electric bulb wasn´t invented by Christopher Columbus, it was invented by Thomas Alva Edison. 

2. The next Summer Olympic Games are going to take place in Sydney.
Příští Olympijské hry se budou konat v Sydney.  
The next Summer Olympic Games are not going to take place in Sydney, they are going to take place in Tokyo.  

3. Sarah´s looking forward to watching TV.
Sarah se těší, až bude sledovat televizi (doslova: na sledování televize).  
Sarah´s not looking forward to watching TV, she´s looking forward to reading a book.   

4. James is disappointed because he has failed a math test.
James je zklamaný, protože neudělal test z matematiky.
James is not disappointed because he has failed a math test, he is disappointed because he has lost a tennis match.  

5. The Beatles had six members.
The Beatles měli šest členů.
The Beatles didn´t have six members, they had four members. 

6. They came from London.
Pocházeli z Londýna.  
They didn´t come from London, they came from Liverpool.  

7. Judy loves spending money on books.  
Judy hrozně ráda utrácí peníze za knížky. 
Judy doesn´t love spending money on books, she loves spending money on clothes.

8. The sun rises in the west.  
Slunce vychází na západě.
The sun doesn´t rise in the west, it rises in the east.  

9. It is safe to drive on icy roads.
Je bezpečné řídit na zledovatělých silnicích.  
It isn´t safe to drive on icy roads, it is dangerous (to drive on icy roads).  

10. Jamie dreams of becoming a doctor.  
Jamie sní o tom, že se stane doktorem.  
Jamie doesn´t dream of becoming a doctor, he dreams of becoming a pilot.

11. Laura finds her job boring.
Lauře připadá její práce nudná. (dosl: Laura shledává svoji práci nudnou.)
Laura doesn´t find her job boring, she finds it exciting.  

12. Laura´s  bored with/ by her job.
Laura se nudí - doslova: je znuděná – svou prací.
Laura´s not bored with / by her job, she´s excited about it.
13. Andrew is angry because he has missed the bus.
Andrew se zlobí (je rozzlobený), protože mu ujel autobus.  
Andrew is not angry because he has missed the bus, he´s angry because he has missed the train.  

14. Andrew was angry because he had missed the bus. 
Andrew se zlobil (byl rozzlobený), protože mu ujel autobus.  
Andrew wasn´t angry because he had missed the bus, he was angry because he had (he´d) missed the train.  

15. When you have a toothache, you should make an appointment with your hairdresser.
Když vás bolí zub, měli byste se objednat u svého kadeřníka (dosl: domluvit si schůzku 
s kadeřníkem).  
When you have a toothache, you shouldn´t make an appointment with your hairdresser, you should make an appointment with your dentist.

16. The green suitcase is much cheaper than the yellow one.  
Ten zelený kufr je mnohem levnější než ten žlutý.
The green suitcase is not much cheaper than the yellow one, it is much more expensive.  
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